Oxi=0 oxa2=0 ox3=0
Ixi=1 > Ixa=2 Ix3=3
axi=3 2xa=y 2x3=6
IxIi=3 Ix3a=F Ix3=9
Uxi=4 Yyx2=8 UxI=I2
5xI=5 5x2=10 5x3=I5
GExI=5 Ex2=12 Gx3=18
Tx1=1 Tx2=M Tx3=21
BxI1=8B Bx2=16 Bx3=23y
gxi=g gx2=18 gx3=21
Inxi=1n Inxa2=20 Inx3=30
Oxy=0 Ox5=0 Ox6=0
Ixy=y Ix5=5 IxB=6
2xy=-8g 2x5=10 2x6=12
Ixy=Ja Ix5=I5 Ix6=18
Uxy=J6 Ux5=20 Yyxb=ay
Sxy=70 5x5=25 S5x6=30
Gxy=3Yy Ex5=30 ExB=36
TxY4y=38 I1x5=35 Tx6E=42
Bxy=33 Bx5=4D Bx6=48
gxy=-35 gx5=-4y5 gxBE=5Y
0 x4=4yn ax5=50 I0x B =60
Ox1=0 OxB8=0 oxa=0
Ix7="1 IxXB=8 Ixa=9
2xT=M 2x8=15 Zx9=18
IxT=2 IxB=2Y Ixg=27
UxT1=28 Yx8=32 Yyxq=38
ExT1=35 Lxa=40 5xg=ys
ExT=4a Ex8=48 Exg=5Yy
IxT1=4g Ix8=56 Tx89=(3
8x1=56 8x8=54 Bxg="13
Ox1=53 gxa8="12 gxg9-Ai
0 x1="10 I0x8=80 I0xg9=-90
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